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Each question below gives a multiple cholce of answers. Choose the most appropriate one.
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1. Shortcut to copy the character formatting:
INTX FHRT B P T T widwe §)
A, Ctrl+Shift+C
B. Ctrl+Shift+V
C. Ctrl4+Shift+X
D. Ctrl+Shift+D

2. Shrink to fit is an option to fit the contents of
page:

S W W B O W ¥ e B B Rig

e g Biw tF R &
A.  before print
fiic A s
B. under print
fic & amR
C. below print
fic = 9=
D. upside down
fic & Sw

3. Key used for Subscript the text in
LibreOffice Writer -

fomsiifrg Eex # ewe @) Whee 7w @
forq SuarT H I areh gon -

A.  Ctrl+P

B.  Ctrl+Shift+B

C. Ctrl+0

D. Ctrl+M

4. In LibreOffice Impress, which of the
following key is used to End Presentation?

(1x100=100)
Rretifrr g8 # 2 A ol IoRTE B

g v B forg sy B &7
A. Ctrl+Home

B. Ctrl4+X

C. Shift+End

D. Esc

5. UMANG is not available on device like:
SHT ... R FEarge R Suae a6 &)
A. Smart Phone

e B
B. Laptops
e
C. Desktop
SWHe
D. Digital Camera
fesiea dav
6. Which one of the following is not a
messaging service?
frefafaa # & o1 @ e Rl s @
8?
A.  WhatsApp
- It
B. Youtube
LW
C. SMS
THTATH
D. Telegram
é('”;”q

7. Document sent or received in an e-mail is
called_:- '

4
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17. Facebook do not have an option to reply to

18.

19.

20.

posts.

A. True- g

B. False - Bfeq

C. canbe- 8 woar &

D. None of these - 79 ¥ B1¥ 7

— Is used for undo last action & __is used
for redo last action.

T T AR R B gl wed @ Ry
T .. BT WA AW B ey Rw ey
fore far <mar 81

A. Ctrl+Z,Ctrl+Y

Ctrl+Y, Ctrl+Z

Alt+-Z, Alt+Y

None of these - $7% ¥ B 7

is a location where the sent mails
are stored.

TP I & T A W NA wm Y
IR

A. Inbox - 34T
B. Sent-d¥c
C
D

o 0w

Draft- giqe
None of these - 378 9§ &g =5}

One can search a station name using three
letters of iton ____,

Irctccoin W & RIF 3 59 € @
SO A FERE BT W@ WS B o wwh
g

A. irctc.co.in

B. BookMyShow.com

C. Both of the above - Sudz i

D. None ofthese - 394 9 o1 F&

21. What is unix? - gf¥aq &7 &7?

A. Application Software
TATa e Aidedax

B. System Software
Rieq Afveaar

C. Operating System
AfRfET Ren
D. None of these

g A g Tl

22. In which shortcut key is used for go to last

23.

24.

slide of the presentation.

Yoy A afx WS ¥ oM @ g few
wFe A P ITET gnw &)

A, Ctrl4+End
B. Esc
C. End

D. None of these - 378 @ 12 =&

Which of the following is Closed Source
Software

frafafaa 3 ¥ 19 91 v 9t Hivedww
gl

A. Microsoft Word

AIgHIANT 98
B. Skype
BT
C. Adobereader
TS| =N
D. All of the above
IRIET it
A security and privacy threat?
& G 3R Moar 9 27

A. Virus - 9@y )
B. Program - 9™
C. Process-W_g

D. None of these - 398 & &5 7781

25. Collection of Worksheets are called

26.

THUC D HUS B ._BaT War &

A. Workbook - 9@ g%
B. File-®%rse
C. Worksheets - gadfie

D. None of these - 379 & &5 ==t

In which option help to copy formatting
from one place and apply to another.

fou R ¥ BHfET oF @ o ¥ =i
TS A S8 A T 7ew frerdt ¥



) '0' LeVel Module M1:R5 - Model "’S"(’)IVe'd'Paper: ’

27.

Format Painter - %nfe Y3
Copy - &

Paste - W%

None of these - 379 I ®F &)

Which is used to send mail to others
without hiding.

e g gt o dw e @ Ry R
i F1 warT e o 8 '
CC - ¥=f

BCC - 9=f=N

Both - 24}

D. None ofthese - 398 ¥ ®1F =

o= >

oo »

28. Abyte equalsto __

TP 5 D TEN ... BT 2

A. 8bit-8 fie

B. 16bit-16 faT

C. 32bit-32 f3e

D. None of these - 99 ¥ I =&

29. Pen drive is a.....

n

3L

RESIEL g
A. Storage Device
o fEarsd

B. Temporary Memory
TR AARY

C. Primary Memory
WEAY HARY
D. None of these
T A PIE T
What is Placeholder?
TEIeeY T 87
A. The objects on a slide that holds text
ATES W Sifeiaey fore Cave B &
B.Shape - 99
C. textbox - TRTAG
D. None of these - g% 9 ®Ig 78l

In which of the following is a permanent
storage.

fepforfiaa % ¥ farai WY sewor gt B

32.

33.

o0 w>

34,

A.RAM - ¥
B. Harddisk - 878 f3%6
C. Both of the above - JuRTaT I

D. None of these - 7% Q @18 18l

___Is an e-governance website.

....... P $-ar AqaEe 8

A. Passport Seva - qrTaTe 94T

B. National Portal of India
ATl e 3ife gfear

C. Prime Minister of India portal
rgw fafex oife fear ada

D. All of the above. - STgaa

The addressing is a cell addressing

mode.

e THRT U W GRRT AT B
Relative - Raifeq
Absolute - Ystifege
Both of the above - SR T
None of these - 7% ¥ ®Ig 78!

Which shortcut key is used for page
break in LibreOffice Writer.

oy oiffhw wger ¥ 09 A9 @ faw fFw
vitdme P & ITANT fHar omar &1

A. Ctrl4+Enter

B. Ctrl4Space

C. Shift+Enter

D. None ofthese - 3% 9§ &5 &

35. Which shortcut key is used for highlight

36.

entire column.

R Plew W TEARe W I faw W

vifdPpe "I T STANT fHar Srar 81

CTRL+Space

Shift+Space

Alt+Space

None of these - 379 ¥ ®Ig &l

‘is a search engine.

....... e Wl g B
A. Bing - fd

oo w»
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B. Firefox - ®R®Iax
C. Google Chrome - & iy
D. None- 1§ T8

37. is the main page of a website

A. Index page - $<91 U
B. Search page - WH 09
C. All page - U%
D. None- &g &
38, ____isthe collection of related files.
R FIEa! B WUE ..ET ¥
A. Database - @'lai‘m

B. document - STEE<
C. textfile - TRT BIsA

D. None of these - 378 ¥ &1 =g

39. Which symbol is used to make a cell
address as absolute.

I W B YsAfege TN B Riw frw fre
37 w4 f&ar wmar 87

#

® o

None of these - 379 & P 7ol

40. ____ printer outputs by ligﬁt beam and
particles of ink. '
—..feR orge dW IR Wl & T FW
HSeYe I YT B |
A.  Laser- @R
B.  Daisywheel - Sofl &e
C.  DotMatrix - <fc #fga
D. Noneofthese- 399 ¥ @I 78l

41. Group of bits in a memory which is used to
represent information or data of some
type is known as.. .

W ¥ facg @1 wE o A TeR
e a1 Ser & gfafifa e @ fag
SYGRT férgr wirar &, @ w9 oI o § |

A. byte - d15C

A.
B.
C.
D.

42,

43.

- 44,

45.

46.

B. memory card - Yarsy w7

C. SRAM - @A

D. PROM - R

Information In computer read only
memory |s stored by...

T A YW IR GGA D fog A
R g e @ R 81

A. User- 4R

B. Programmer - YUTR

C. Manufacturer - fatar

D. engineer - $SNfAAR

Data entered Into computer through
keyboard and mouse is an example of:

PR iR oW @ WEa ¥ FEgeR ¥ oo
faar AT T TF SAERT &

A. instruction - fe¥

B. command - HATS

C. indirect input - 3UA& T4

D. directinput - <&l §9C :

1 kilobyte is equals to:

1 freliarse R BT R

A. 1024 bytes - 1024 d13€

B. 1048576 bytes - 1048576 dIsC
C. 102400 bytes - 102400 ¥ ]
D. 1048 bytes - 1048 TATEC

.In a spreadsheet, letters are used to
represent

Iredie ¥ AR 1 T e w1 D
o faar @ 21

A. Cells- 3eq

B. Row-dq

C. Columns - ®ie™

D. Blocks - &if®

Spreadsheet cannot:

Bredile 78 TR W £

A. do calculations - BTG BT
B. create graphics - TiftheR 1T
C. plot graphs - U6 &1
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47.

D. plot charts - ST =111

Which among the following is an
application that allows the user to
compose and edit simple document?

frfofea ¥ § 919 W @ Y e @
St STENTEdl B WERer TRy a9E R
e o7 9 SrgAfy <ar 87

A. Word processor - 8 WY

B. Spreadsheet - WWesiie

C. E-mail utility - 9% gl

D. Browser - 813X

48.___is an example of e-mail utility.

. S0 STAGT FT TH SIEROT B

A. Word- g3

B. Outlook - amSeqg®
C. Explorer- TauIeR
D. Excel - To9d .

49, ODT stands for:

50. Special effects used to introduce slides in a

S T ot anf &
A. Open office writer document file
I S SR SEgAT BIS
B. Office writer document
¥ FeR SRPT<
C. Open document file
AT IETHT HIgd

D. Office document file
S STagA—< Hisa

presentation are known as __

ToicTs ¥ wigsw @ W o ® forg
ST Y oM 9 {9 waEt 5 — &

©T H ST T B

A. Transitions
ot
B. effects _

5

ghacy

C. custom animation

FHXCH T

D. annotations

N

51. IME stands for

amdyd P ot anf B ?
A. Input Method Editor

FIYe g UEieR a

B. Immediate Method Editor !

IR Fors veR |

C. Input Multimedia Editor I[

gIqe AeeMIfEa wéex !

D. None of these - 1% ¥ &g =&} ]

t

t

52. Computer memory is measured in terms ¢

. 53.

54. __

55.

FaeX A B ... B HY F A SRS |

\
A. bytes - 91gCH |
B. meter - HlexX |
C. second - AdTs 3

D. None- ®E &
Fields are the basic elements of data in 3
........ ¥ Pies ST @ R vem= &

A. Folder - ®Ieex
B. File - ®wIgdl
C. e-page - $—UST
_D.None - @I 81
make it easier to set up complicate
calculations
ﬁﬁ-ﬁ 'I“I:II'EF” 3’7} Hied AT 3N TR
gl
A. Functions - Ba@4
B. Row -1

C. Columns - ®ierd vy
D. None of these - 578 I IS 78}

OCR stands for

AR 1 gof ol ®

A. Optical Character Recognition
difcrer Hyaex ReTTgeTH

B.. Optical Choice Recognition"
diferea =ga Remmsew=

C. Open Character Recognition
M By ReTgeeE

D. None of these - 379 ¥ &3 &

56. 1 Megabyte equalsto __ .

1 ¥ TTETEE aRMEN BT R

A. 106 bytes
B. 108 bytes
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C. 10*Dbytes
D. None- @8 T

57. What is computer network?
FER ATTD T B

A. More than one computers connected to
share information

IECARUIRSIE I G L o R (D
IS TN

B. Only one computer share information
BIA [ HFISN THGW W Har &

C. Making a file by using connected
computer.

FARE TYSR FT ST TR G
AT

D. None - ®1g &

5g. Computer menuis a collection of
TR A, ... DT HUT BT B
A, file - BIsd &
B. commands - HHS

C. document - SFgHT ‘
D. Noneofthese - 3% ¥ &g 72}

59. Magnetic diskis a

s 5 .81

A. Sequential access medium
fyediftraa vaaw #Aifsam

B. Direct Access medium
SERAE Taad Aifeaq

C. Random access medium
Yeq ey Hifsan

D. All of the above - Sugfaq w4t

60. Which shortcut key is used to insert a new
slide in a presentation. _
IoieTE # E wigs §E oA 9 faw few
vidde B BT SUART fHar ST 2

A. Ctrl+M
B. Ctrl+]
C. Ctrl+N

D. None of the above-Iugad # & T3 &1

61. Which shortcut key is used to print

Power Point presentation.

yravaiEe gy 3 file & @ firg fFw
iHe ‘" 1 SUART fHar oar 3|

62.

63.

64.

65.

66.

A, Ctrl+P
B. Ctrl+0

C. End
D. None of these - g% ¥ ®Tg T8t

Ms-Word comes under __

s @ arnta e §1

A. Document production
Stagite o

B. Spreadsheet creation
Tredre famior

C. Presentation creation
ooy fermfor

D. None of these

i A PR el

Organized set of related components is
referredas __-

Wi wEre @ | ¥ B O
¥ Weffq foar s &

A. Cookies - T@HIN

B. system - Ried

C. memory - HHNI

D. None-&Tg 781

___refers to the logical structuring of
records ~
Reted @1 diforea

FHIAT B Al '
A. header - &R

B. data-wrer ‘
C. create flash movies - Feler FdIST g
D. None of these - 374 ¥ $Is &

___itself is a file owned by the operating
system.

e S HARFET Red B T acl T
BIEd B

A. Directory - SRag!

B. Spreadsheet - ®rs¥iie

C. Slide- wiizs

D. Database - 4

O A

The ___loses its content when the power
is switched off.

faerel 95 B ... TN TWA @Y T R
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A. RAM -7

B. ROM-3m

C. Directory - ST

D. None of these - 378 ¥ ®1g &

67. The cell thatis in used is called _

68.

69.

70.

forg ¥ o1 SuanT fFar o 8 S9 ...
FET AT B

A. Cell -9«

B. Active cell - Wfaeg ua

C. Box-diaqd

D. None of these - 9% ¥ DI F&I

The ___ in a document and the order in
which it is presented is referred to as the
document’s logical structure.

TS T ¥ ... IR R w9 W
wmma@mmm
ILFER FET W Bl

A. Information - S<HTHEA

B. Row-31

C. directory - SRTg!

D. None of these - 399 9§ ®E 78]

CRT stands for_____
HaRE &1 gof arf L2

A. Cathode Ray Tube - 39S ¥ Tgd
B. Character Recognistion terminal
e R effma
C. Cathode Ray Terminal
Pors ¥ <filFe

D. None of the above
SRIGT # 9 PS8!

Which one of the following bootloader is
not used by linux?

ﬁmﬁﬁaa#%aﬂww@svﬁwm

SganT & fHar Smar 87
A. NTLDR
B. GRUB
C. LILO
D. None of these
ST U BIS Al

is the’term used whenever there

are changes in the appearance of a value
or label

72.

73.

—

e X T AT T4 F5AT ST & T gy
g W e B @9 # B oRaxtT o 8

‘A. Formatting - wfeT

B. Editing - ufefémn
C. viewing - &
D. None of the above-SmRiaw 7 & a‘;‘ﬁf L)

What is the alignment of text that {g
positioned so that both the left and right
edges of the paragraph are flush with the

left and right margins?- '

¥ T Yarge Fur Bn & o, Rnife B |
A R WEe I wEe B, Ave IR e
HIRET Y vaw Fxa g¢ R ar 2 |
A. Justified - TREHRS

B. Centered - 9<s

C. leftaligned - ewe 3rems

D. rightaligned - Vg€ a@mgA

Which of the following is not a text
function?

1 4 9§ Pr—uT1 2o B B B

A. CHAR.
B. VAR
C. LEN.
D. PMT.

74. The set of processed data is called?

75.

o w»

MNAE 2T & e DY DaT oar 87

Data - €Il _
Data Processing - STeT MR
Database - STe&4d

Information - SHTHTA,

What is the hyperlink shortcut key in
LibreOffice Writer?

femeiifha WeX  TERiie & vidse aﬁ
T 8?7

A. Ctrl+H
C. Ctrl+L

B. Ctrl+K
D. Ctrl+Shift+h

76. DVD is based on.

... ) ImiRa B

A. USB Pen technology
JUEE U AhAID
B. Magnetic Disk Technology
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g R aaie
C. Media to store Video data only
Faa e Wuw 7 aen mem
D. Optical Disk Technology
difesd @ aais

77. The UNIVAC is

UNIVAC e B

A. Universal Automatic Computer
RS e Fagex

B. Unvalued Automatic computer
JUferd o SRR

C. Unique Automatic Computer
REEASEUEIE R O

D. Universal Array Computer
gadd W YR

'78. Sending a file from your personal
computer's memory or disk to another
computer is called?

FM T PYR B AN ;qT R § IE

27
A.Logging - @i
B. Uploading - 3maaifsT
C. Downloading - IS
D.Hanging - &R
79. The key combination is used to decreses

the width of current column in LibreOffice
Calc spreadsheet.

foadlifry oo Tevie ¥ 59 A St
mawu‘mﬁaaﬁmaﬁﬁmaaﬁa‘?m
far wmar 21

A. Alt+Leftarrow  B. Alt+Right arrow
C. Alt+down arrow D. Alt4up arrow

80. Skypee is one of the best ....
ey WP B
A. Web browser - 99 aTSquX
B. Internet telephony - Ee3c CellBIA!
C. Web server - 99 9dR
D. None of the above - SuRad # 9§ &g &l

TR I PG W AW P T FET AT

81. A bit of text that's automatically inserted
at the bottom of every sent message Is
known as-

mmmmmmﬁﬂG%%w
o & S TE1 o 87

A. Personal level indicator
afdRrTeT WR HHaD

B. Signature - BXIER

C. People text - I <HE

D. People widget - figat fasie

82. Which of the following method is right to
securing your mobile.

- = ¥ Y a9 @ A e FRgey &
3 m@lﬂ_(ﬁﬂe_iﬂ?mﬂﬁ%?

A. App Lock - 70 @i

B. Passcode - IFRI®TS

C. Use two-factor authentication
T—qex YR BT ST
D. All of the above - Sud&i I

83. If Al1=1, A2—2 A3=A, A4=B, then the
answer will be __, if count function is used
in calc.
afd Al=1, A2=2, A3=A, A4=B, oI T ...
BT AR dow A FET TIE B SYEA

o s B

A2
B. 4
C.5

D. None of these - 378 ¥ &g 8

84. IPO cycle stands for........ :
IrEdE Aee 1 Of B B :
A. Input Process Output
FTYC MW 39Tqe
B. Integrated Programme Onboard
NS WO TS
C. Input Program Output
ERECRIBIICIEE
D. Integrated Process Output
FCNICS WY ASCYe
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85. Which of the following key is used to start

90. Which one of these stores more ¢,

slide show from current slide in
LibreOffice impres.

T T ¥ W 0y 7 B R
fmalifr = & o & N =1 syg
& o @
A.Ctrl+ F5
C. Shift + F5

B. Alt+F5
D. Ctrl+F7

86. UPI interface governed by

TN Texdw T ey @

A. RBI - 3mxdiars

B. SBI - Twdtang

C. Finance Ministry - fer waery

D. None of above - swiae ¥ 3 LA

87. Which social media is more based 0
and video, v

ﬁﬁwm‘ﬂﬁmm@?mw
IR 8

A. Facebook - Bwgs

B. Instagram - s -
C. Twitter - fegez

D. None of above - GTTQ'ERT ﬁ A B TE

n image

88.IRCTCis a.

IRCTC®|

A. Airport service provider
TIRUIE | sy

B. Email service provider
9 A v

C. Railway service provider
AGER IR I Frr

D. None of the above

Sugdad § P g

89. Coud computing save his data on ...

FATSS T[T ST TTeT Y GO Fwal &
A Internet- gexe

B. Pendrive - 49 gfgg

C. Harddisk - &< e

D. CD Rom - 3r€r %M

DVD? tatha“
T Y SN A SR I =R g’mm
A. CD Rom - ¥

B. Floppy - waifdt

C. Blue Ray Disk - & ¥ 3%

D. Red Ray Disk - Y€ ¥ f&ww

91. Which of following is used in RAM?
T W e W ¥ yanT gy &7
A. Conductor - Heder
B. Semi Conductor- 9% Fsger

C.  Vaccum Tubes - 377 cgen
D. Transistor - gifoTeex

92. Who was the father of Internet?
ETHR BT 9D 6 FoT TAT?
A. Chares Babbage - =rex] 3w
B. Vint Cerf - fd== |9

- C. Denis Riche - 21 Re

D. Martin Cooper - mféT @mr

. 93, USB is which type of storage device?

TR T ¥ R yoR B R fReagw 2
A. Primary - urgs@)
B. Secondary - Q@ved
C. Tertiary - 28
D. None of above - 3oz # ¥ &1 =78

94. Which component of computer is als
considered as it Heart?

FIX B &Y UCH B 3T D WY F 4
AT e 27?

A. Monitor - #¥ex
B. Keyboard- #qrE
'C. Scanner-wsR

D.  Microprocessor - ArgmuRITR
95. What is meaning of EEPROM?
EEPROM &7 waelq a1 87

A. Electronically Erasable Programmable Read

only Memory
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i RREE M Re st A

g. Electrically Erasable Programmable Read
only Memory
cAmed) VAT MIrRE Re s A9
c. Electronically ~ Erasable  Programmable
Reach only Memory

@aiAed RNE WmRa Ra i
AR
D. Electrically Erasable Pratical Reach only

AR VRV IRewa Ra s g
96. Full form of WORM is

WORM @1 ot arf 87

A. Write once read many

g a9 O A

B. Write on Random memory
e 3 YveH W
C. Work on real memory

7 ot o A
D. None of the above - SIRIT ¥ 1 78

97. Which of the following is supportive for Big
data analytics?
far 3o TAfafeew @ foav fafafes & 9
BT WS 87
A. Cloud Storage
FASS RS

B. Social Network
SINE SO

C. E-commerce
I
D. All of the above

Iugad | | 9

98, The formula that will add the value of cell
D4 to the value of C2 and then multiply
by the value in B2 in Calcs...

B 3 o wrfer o 97 D4 W A B
I C2 F A N v & g B2 WA B
A5 A o T B

(D4+C2)*B2

D4+C2*B2

=(D4+C2)*B2

=(B2*D4+C2)

oo >

99, When a computer prints a report, this
output is called..
WA g srgex o Rue fife wwvar 8 A
T8 ASTYE FHEarl & |
A. Hard Copy - g€ A
B. Soft Copy - €fFe @l
C. .Com -
D. None- 31§ 7@l

100. Moves the cursor to the first cell in the
sheet Al. in LibreOffice.

fomsfifew § fic # =R = geelt /G (Al)
# o ST 8- :

A. Ctrl +F1

B. Ctrl + Home

C. Alt+F1

D. Ctrl+ 0



